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INTERMEDIATE EXAMINATION – 2024 (ANNUAL) 

AGRICULTURE (ELECTIVE) 

 

I.Sc. (THEORY/ )  

 

Total No. of Questions: - 70+20+6= 96  Total No. of Printed Pages :-

    Time: 3 Hours 15 Minutes            
 

Full Marks
 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk dzekad ¼10 vadks dk½ vo’; 

fy[ksaA 

Candidate must enter his / her Question Booklet Serial No. (10 Digits) 

in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 

practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

Subject Code :- 120 
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4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted for the candidate to read 

the questions carefully. 

 ;g iz’u&i= nks [k.Mksa esa gS % 

This question booklet is divided into two sections: Section-A, 

Section-B

6- [k.M&v esa 70 oLrqfu"B iz’u gS] ftuesa ls fdUgha 35 iz’uksa dk mrj nsuk vfuok;Z 

gSA 35 iz’uksaa ls vf/kd iz’uksa dk mrj nsus ij izFke 35 dk gh ewY;kadu gksxkA 

izR;sd Ikz’u ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k djk;s x;s 

x, OMR mÙkj i=d esa fn, x, lgh fodYi dks uhys @dkys ckWy isu ls izxk<+ 

djsaA fdlh Hkh izdkj ds g~okbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR 

mÙkj i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section - A, there are 70 objective type questions, out of which any 

35 questions are to be answered. If more than 35 questions are 

answered, then only first 35 answer will be evaluated. Each question 

carries 1 mark. For answering these darken the circle with blue/ black 

ball pen against the correct option on OMR Answer sheet provided to 

you. Do not use Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise 

the result will be treated invalid. 
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7-  [k.M& c esa 20 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 10 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 

06 nh?kZ mÙkjh; iz’u fn, x, gSa] ftuesa ls fdUgha 03 iz’uksa ds mÙkj nsuk vfuok;Z 

gSA izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA 

In section - B, there are 20 Short answer type questions, out of which 

any 10 questions are to be answered. Each question carries 2 marks. 

Apart from these, there are 06 long answer type questions, out of 

which any 03 questions are to be answered. Each question carries 5 

marks.  

8- fdlh rjg ds bysDVªkWfud&;a= dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

SECTION - A 

 
iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR - ’khV ij fpfUgr djsaA fdUgha 35 

iz’uksa ds mrj nsaA         35x1=35 

Question No.- 1 to 70 have four options, out of which only one is correct. 

You have to mark your selected option, on the OMR – Sheet. Answer any 

35 questions.               35x 1=35 

1- buesa ls dkSu [kjhQ dh Qly dk mnkgj.k  gS \ 
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 (A) Tokj     (B) puk 

 (C) eVj     (D) xsgw¡ 

 Which of the following is an example of Kharif Crop ? 

(A) Sorghum    (B) Gram 

 (C) Pea     (D) Wheat 

2- buesa ls cgqo"khZ Qly dkSu gSa \ 

 (A) puk     (B) eDdk 

 (C) I;kt     (D) usfi;j ?kkl 

 Which of the following is Perennial crop ? 

 (A) Gram     (B) Maize 

 (C) Onion     (D) Napier grass 

3- buesa ls nyguh Qly dkSu gS \ 

 (A) elwj     (B) xsgw¡ 

 (C) eDdk     (D) vkyw 

 Which of the following is pulse crop ? 

 (A) Lentil     (B) Wheat 

 (C) Maize     (D) Potato 

4- buesa ls rsygu Qly dkSu gS \ 

 (A) eDdk     (B) dikl 

 (C) twV     (D) jkbZ 
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 Which of the following is oilseed crop ? 

 (A) Maize     (B) Cotton 

 (C) Jute     (D) Rye 

5- buesa ls js’ksokyh Qly dkSu gS \  

 (A) xUuk     (B) eDdk 

 (C) vkyw     (D) iVlu 

 Which of the following is fibre crop ? 

 (A) Sugarcane    (B) Maize 

 (C) Potato     (D) Jute 

6- buesa ls 'kdZjk Qly dkSu gS \ 

 (A) xUuk     (B) eDdk 

 (C) xsgw¡     (D) /kku 

 Which of the following is Sugar crop ? 

 (A) Sugarcane    (B) Maize 

 (C) Wheat     (D) Rice 

7- buesa Qy okyh Qly dkSu gS \ 

 (A) tkequ     (B) eDdk 

 (C) puk     (D) xsgw¡ 

 Which of the following is fruit crop ? 

 (A) Jamun     (B) Maize 

 (C) Gram     (D) Wheat 
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8- buesa ls fdldk mi;ksx dsd m|ksx ds fy, gksrk gS \ 

 (A) xUuk     (B) rhlh 

 (C) xsgw¡     (D) jkbZ 

 Which of the following is used in Cake Industry ? 

 (A) Sugarcane    (B) Linseed 

 (C) Wheat     (D) Rye 

9- ,p0 ;q0 MCY;w0 468 fdl Qly dh fdLe gS \ 

 (A) /kku     (B) puk 

 (C) xsgw¡     (D) eDdk 

 HUW 468 is the Variety of which crop ? 

 (A) Rice     (B) Gram 

 (C) Wheat     (D) Maize 

10- ftvk est ,y fdl Qly dk okuLifrd uke gS \ 

 (A) xsgw¡     (B) eDdk 

 (C) puk     (D) elwj 

 Zea mays L is the variety of which crop ? 

 (A) Wheat     (B) Maize  

 (C) Gram     (D) Lentil 

11- iÙkh yisVd fdl Qly dk dhV gS \ 

 (A) puk     (B) elwj  

 (C) jkbZ      (D) eDdk 
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 Leaf roller is the insect of which crop ? 

 (A) Gram     (B) Lentil 

 (C) Rye     (D) Maize 

12- buesa ls fdl Qly dh [ksrh [kjhQ ,oa joh nksuksa ekSle esa dh tkrh gS \ 

 (A) puk     (B) xsgw¡ 

 (C) vjgj     (D) jkbZ 

Which of the following crop is cultivated in both season Kharif and 

Rabi ? 

 (A) Gram     (B) Wheat 

 (C) Red gram     (D) Mustard 

13- [kjhQ vjgj dk cht nj D;k gS \ 

 (A) 14&15 fd-xzke@gs0   (B) 40&50 fd- xzke@gs0 

 (C) 100&150 fd-xzke@gs0   (D) 200&250 fd- xzke@gs0 

 What is seed rate of Kharif arhar ? 

 (A) 14-15 kg/ha    (B) 40-50 kg/h 

 (C) 100-150 kg/ha   (D) 200-250 kg/ha 

14- iwlk 362 fdl Qly dh fdLe gS \ 

 (A) puk     (B) elwj 

 (C) xsgw¡     (D) jkbZ 

 Pusa 362 is the variety of which crop ? 

 (A) Gram     (B) Lentil 

 (C) Wheat     (D) Mustard 
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15- ikble lVkboe ,y fdl Qly dk okuLifrd uke gS \ 

 (A) puk     (B) eVj 

 (C) VekVj     (D) xUuk 

 Pisum sativum L is the botanical name of which crop ? 

 (A) Gram     (B) Pea 

 (C) Tomato     (D) Sugarcane 

16- fVDdk jksx fdl Qly dk jksx gS \ 

 (A) puk     (B) ew¡xQyh 

 (C) eDdk     (D) xsgw¡ 

 Tikka disease is the disease of which crop ? 

 (A) Gram     (B) Groundnut  

 (C) Maize     (D) Wheat 

17- iapkyh fdl Qly dh fdLe gS \ 

 (A) eDdk     (B) puk 

 (C) xssgw¡     (D) rksjh 

Panchali is the variety of which crop ? 

 (A) Maize     (B) Gram 

 (C) Wheat     (D) Tori 

18- [kjhQ ekSle dc vkjEHk gksrk gS \ 

 (A) uoEcj&fnlEcj    (B) ebZ&twu 

 (C) tqykbZ&vxLr    (D) flrEcj&vDVwcj 
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 When Kharif season starts ? 

 (A) November-December  (B) May-June 

 (C) July-August    (D) September-October 

19- jch Qly dc lekIr gksrk gS \ 

 (A) tuojh&Qjojh    (B) uoEcj&fnlEcj 

 (C) ekpZ&vizSy    (D) flrEcj&vDVwcj 

 When Rabi season ends ? 

 (A) January-February   (B) November-December 

 (C) March-April    (D) September-October 

20- buesa ls dkSu fefJr [ksrh  dk mnkgj.k gS \ 

 (A) tkS $ puk    (B) eDdk $ ewax 

 (C) xUuk $ fHkaMh    (D) eDdk $ vkyw 

 Which of the following is example of Mixed cropping ? 

 (A) Barley + Gram   (B) Maize + Green gram 

 (C) Sugarcane + Lady finger  (D) Maize + Potato 

21- buesa ls dkSu vUrjorhZ [ksrh dk mnkgj.k gS \ 

 (A) puk&rhlh    (B) eDdk&ewax 

 (C) tkS $ puk    (D) eDdk $ vjgj 

 Which of the following is an example of Inter cropping ? 

 (A) Gram + Linseed   (B) Maize + Green gram 

 (C) Barley + Gram   (D) Maize + Red gram 



10 
 

22- ewaxQyh dks ty dh  dqy vko’;drk fdruh gS \ 

 (A) 31-0 ls-eh-    (B) 50-6 ls-eh- 

 (C) 100-0 ls-eh-    (D) 200-0 ls-eh- 

 What is the total water requirement of Groudnut ? 

 (A) 31.0 cm    (B) 50.6 cm 

 (C) 100.0 cm    (D) 200.0 cm 

23- fn;kjk dk nwljk uke D;k gS \ 

 (A) Vky     (B) pkSj  

 (C) nksuksa     (D) buesa ls dksbZ ugha  

 What is the another name of Diara ? 

 (A) Tal     (B) Chaur 

 (C) Both     (D) None of these 

24- buesa ls dkSu flapkbZ fof/k vkyw ds fy, mi;qDr gS \ 

 (A) dwaM fof/k     (B) csflu fof/k  

 (C) ty Iykou fof/k   (D) cksMZj fof/k 

 Which of the following irrigation method is suitable for Potato ? 

 (A) Furrow method   (B) Basin method 

 (C) Flooding method   (D) Boarder method 

25- buesa ls dkSu e`nk lq/kkjd gS \ 

 (A) ;wfj;k     (B) ,l- ,l- ih- 

 (C) ,e- vks- ih-    (D) ftIle 
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 Which of the following is soil Amender ? 

 (A) Urea     (B) SSP 

 (C) MOP     (D) Gypsum 

26- fn;kjk dk vFkZ D;k gS \ 

 (A) xzhu ySaM     (B) vkbl ySaM 

 (C) xzkl ySaM     (D) gkse ySaM 

 What is the meaning of Diara ? 

 (A) Green land    (B) Ice land 

 (C) Grass land    (D) Home land 

27- buesa ls dkSu ,do"khZ; [kjirokj gS \ 

 (A) iRFkj pV~Vk    (B) eksFkk 

 (C) iqVql     (D) vejcsy 

 Which of the following is an annual weed ? 

 (A) Pathar Chatta   (B) Motha 

 (C) Putus     (D) Amarbel  

28- buesa ls cgqo"khZ; [kjirokj dkSu gS \ 

 (A) taxyh tbZ    (B) cujk 

 (C) tydqEHkh     (D) buesa ls dksbZ ugha 

 Which of the following is Perennial weed ? 

 (A) Jangali Jai    (B) Banara 

 (C) Jalkumbhi    (D) None of these 
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29- buesa ls dkSu [kjhQ ekSle dk [kjirokj gS \ 

 (A) HkkaxM+k     (B) cFkqvk 

 (C) lQsn lsath    (D) ihyh lsath 

 Which of the following is Karif season weed ? 

 (A) Bhangada    (B) Bathua 

(C) Safed Senji    (D) Peeli Senji 

30- buesa ls dkSu 'kkduk’kh gS \ 

 (A) ;wfj;k     (B) ,l- ,l- ih- 

 (C) ikjkDosV     (D) ,e- vks- ih- 

 Which of the following is herbicide ? 

 (A) Urea     (B) SSP 

 (C) Paraquat    (D) MOP 

31- Qsysfjl ekbuj fdl Qly dk [kjirokj gS \ 

 (A) puk     (B) elwj 

 (C) xUuk     (D) xsgw¡ 

 Phalaris minor is weed of which crop ? 

 (A) Gram     (B) Lentil 

 (C) Sugarcane    (D) Wheat 

32- HkkaxM+k ¼Eclipta alba½ fdl Qly dk [kjirokj gS \ 

 (A) xsgw¡     (B) puk 

 (C) elwj     (D) /kku 
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 Bhangada (Eclipta abla) is the weed of which crop ? 

 (A) Wheat     (B) Gram 

 (C) Lentil     (D) Rice 

33- buesa ls dkSu jsfxLrkuh [kjirokj gS \ 

 (A) tydqEHkh     (B) ukxQuh 

 (C) eksFkk     (D) nwc 

 Which of the following is Xerophytic weed ? 

 (A) Jalkumbhi    (B) Nagfani 

 (C) Motha     (D) Dub 

34- tSfod [ksrh ds fy, buesa ls dkSu izfrcaf/kr gS \ 

 (A) jkWd QkWLQsV    (B) ;wfj;k 

 (C) QsYMLikj     (D) MksyksekbV 

 Which of the following is restricted in organic farming ? 

 (A) Rock Phosphate   (B) Urea 

 (C) Feldspar    (D) Dolomite 

35- oehZdEiksLV cukus essa buesa ls fdldk mi;ksx gksrk gS \ 

 (A) IykfLVd     (B) iRFkj 

 (C) dspqvk     (D) rkEck 

 Which of the following is used for proparation of Vermi Compost ? 

 (A) Plastic     (B) Stone 

 (C) Earth Worm    (D) Copper 
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36- [kYyh esa ukbVªkstu ¼%½ fdruk gksrk gS \ 

 (A) 15-0 & 20-0    (B) 30-0 & 40-0 

 (C) 2-0 & 7-0    (D) 8-0 & 10-0 

 What is the nitrogen (%) content in Oil Cake ? 

 (A) 15-0 & 20-0    (B) 30-0 & 40-0 

 (C) 2-0 & 7-0    (D) 8-0 & 10-0 

37- buesa ls dkSu lgdkjh la;qDr [ksrh esa Hkwfe dk Lokeh gksrk gS \ 

 (A) ljdkj     (B) lkewfgd 

 (C) O;fDrxr     (D) buesa ls dksbZ ugha 

 Which of the following is land holder of cooperative joint farming ? 

 (A) Government    (B) Collective 

 (C) Individual    (D) None of these 

38- 10 gsDVs;j ls vf/kd tksr okys fdlku dks ------------- dgrs gSa \ 

 (A) c`gr fdlku    (B) y?kq fdlku 

 (C) e/;e fdlku    (D) lhekar fdlku 

 Land holding of more than 10 hectare, farmer is known as ……… 

 (A) Large farmer    (B) Small farmer 

 (C) Medium farmer   (D) Marginal farmer 

39- buesa ls dkSu m".k dfVcU/kh; tyok;q dk Qy gS \ 

 (A) iihrk     (B) vaxwj 

 (C) lso     (D) yhph 
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 Which of the following is tropical fruit ? 

 (A) Papaya     (B) Grapes 

 (C) Apple     (D) Litchi 

40- buesa ls dkSu 'khrdkyhu lCth gS \ 

 (A) vkyw     (B) fHk.Mh 

 (C) cSxu     (D) ykSdh 

 Which of the following is Winter growing vegetable ? 

 (A) Potato     (B) Lady finger 

 (C) Bringal     (D) Bottle gourd 

41- buesa ls dkSu yEcs izdk’k dky dh lCth gS \ 

 (A) 'kdjdUn     (B) [khjk 

 (C) ewyh     (D) eVj 

 Which of the following is long day vegetable ? 

 (A) Sweet Potato    (B) Cucumber 

 (C) Radish     (D) Pea 

42- buesa ls dkSu NksVs fnuksa okyk iq"Ik gS \ 

 (A) xqynkmnh     (B) isVqfu;k 

 (C) :Mcsfd;k    (D) buesa ls dkbZ ugha 

 Which of the following is short day flower ? 

 (A) Chrysanthemum   (B) Petunia 

 (C) Rudbeckia    (D) None of these 
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43- vk¡oyk esa dkV&NkaV dk le; D;k gS \ 

 (A) twu&twykbZ    (B) tuojh&Qjojh 

 (C) ebZ&twu     (D) ekpZ&vizSy 

 What is the time of of Pruning in Amla ? 

 (A) June-July    (B) January-February 

 (C) May-June    (D) March-April 

44- buesa ls dkSu yo.kh; e`nk dss fy, mi;qDr Qy gS \ 

 (A) vathj     (B) vukukl 

 (C) csy     (D) vk¡oyk 

 Which of the following is suitable for salt affected soil ? 

 (A) Fig     (B) Pineapple 

 (C) Bael     (D) Amla 

45- buesa ls fdldk mi;ksx vkpkj cukus esa gksrk gS \ 

 (A) yhph     (B) csj 

 (C) vke     (D) ve:n 

 Which of the following fruit is used for pickle preparation ? 

 (A) Litchi     (B) Ber 

 (C) Mango     (D) Guava 

46- fpfu;k fdl Qy dh fdLe gS \ 

 (A) dsyk     (B) yhph 

 (C) vke     (D) ve:n 
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 Chinia is the variety of which fruit ? 

 (A) Banana     (B) Litchi 

 (C) Mango     (D) Guava 

47- fdUuks fdl Qy dh fdLe gS \ 

 (A) ve:n     (B) dsyk 

 (C) larjk     (D) csj 

 Kinnow is the variety of which fruit ? 

 (A) Guava     (B) Banana 

 (C) Mandarin    (D) Ber 

48- jkst lsUVsM fdl Qy dh fdLe gS \ 

 (A) vke     (B) dsyk 

 (C) ve:n     (D) yhph 

 Rose Scented is the variety of which fruit ? 

 (A) Mango     (B) Banana 

 (C) Guava     (D) Litchi  

49- LVªkojh ds jksi.k dk le; D;k gS \ 

 (A) tuojh&Qjojh    (B) e/; flrEcj&vDVwcj 

 (C) e/; uoEcj&fnlEcj   (D) ebZ&twu 

 What is planting time of Straw berry ? 

 (A) January-February   (B) Mid September-October 

 (C) Mid November-December (D) May-June 
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50- buesa ls fdldk mi;ksx f=Qykpw.kZ esa gksrk gS \ 

 (A) vke     (B) dVgy 

 (C) yhph     (D) vk¡oyk 

 Which of the following used in Trifalachurna ? 

 (A) Mango     (B) Jack fruit 

 (C) Litchi     (D) Amla 

51- cukjlh dM+kdk fdl Qy dh fdLe gS \ 

 (A) csj      (B) tkewu 

 (C) dVgy     (D) yhph 

 Banarasi Kadaka is the variety of which fruit ? 

 (A) Ber     (B) Jamun 

 (C) Jack fruit    (D) Litchi 

52- buesa ls dkSu ekyoSlh dqy dk ikS/kk gS \ 

 (A) VekVj     (B) vkyw 

 (C) fHkaMh     (D) cSaxu 

 Which of the following is from Malvaceae family ? 

 (A) Tomato     (B) Potato 

 (C) Lady finger    (D) Brinjal 

53- buesa ls fdls fcyk;rh cSaxu dgrs gSa \ 

 (A) cSaxu     (B) vkyw 

 (C) VekVj     (D) QwyxksHkh 
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 Which of the following is known as Bilayati Baigan ? 

 (A) Brinjal     (B) Potato 

 (C) Tomato     (D) Cauliflower 

54- buesa ls dkSu lsysuslh dqy dk ikS/kk gS \ 

 (A) vkyw     (B) cSaxu 

 (C) VekVj     (D) lHkh 

 Which of the following is from Solanaceae family ? 

 (A) Potato     (B) Brinjal 

 (C) Tomato     (D) All 

55- iwlk T;ksfr fdl Qly dh fdLe gS \ 

 (A) QwyxksHkh     (B) VekVj 

 (C) ikyd     (D) vkyw 

 Pusa Jyoti is the variety of which crop ? 

 (A) Cauliflower    (B) Tomato 

 (C) Spinach    (D) Potato

56- xtsUnz fdl Qly dh fdLe gS \ 

 (A) cSaxu     (B) vkyw 

 (C) VekVj     (D) ftehdUn ¼vksy½ 

 Gajendra is the variety of which crop ? 

 (A) Brinjal     (B) Potato 

 (C) Tomato     (D) Elephant foot 
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57- iwlk cjlkrh fdl Qly dh fdLe gS \ 

 (A) eVj     (B) VekVj  

 (C) vkyw     (D) yksfc;k 

 Pusa Barsati is the variety of which crop ? 

 (A) Pea     (B) Tomato 

 (C) Potato     (D) Lobia (Cow Pea) 

58- buessa ls dkSu BaMh ekSle dh Qly gS \ 

 (A) Ýsap chu     (B) [kjcwwtk 

 (C) djSyk     (D) cSaxu 

 Which of the following is cool season crop ? 

 (A) French bean    (B) Musk melon 

 (C) Bittergourd    (D) Brinjal 

59- jktsUnz lksfu;k fdl Qly dh fdLe gS \ 

 (A) eVj     (B) VekVj 

 (C) vkyw     (D) gYnh 

 Rajendra Sonia is the variety of which crop ? 

 (A) Pea     (B) Tomato 

 (C) Potato     (D) Turmaric  

60- dkSu jkT; vnjd dk mRiknu lcls vf/kd djrk gS \ 

 (A) fcgkj     (B) jktLFkku 

 (C) dsjy     (D) e0iz0 
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 Which state produces maximum ginger ? 

 (A) Bihar     (B) Rajasthan 

 (C) Kerala     (D) M. P. 

61-  vtokbu fdl ekSle dh Qly gS \ 

 (A) BaMs ekSle    (B) xeZ ekSle 

 (C) cjlkr     (D) (B) ,oa (C)

 Ajvain  is of which season crop ? 

 (A) Winter season   (B) Summer season 

 (C) Rainy season   (D) Both (B) and (C) 

62- 'kjn izHkk fdl Qwy dh fdLe gS \ 

 (A) xsank     (B) XySfM;ksyl 

 (C) xqynkmnh    (D) Mgfy;k 

 Sharad Prabha is the variety of which flower ? 

 (A) Merigold    (B) Gladiolus 

 (C) Chrysanthemum   (D) Dahlia 

63- buesa ls jkstslh dqy dk ikS/kk dkSu gS \ 

 (A) xsank     (B) xqykc 

 (C) xqynkmnh    (D) XySfM;ksyl 

 Which of the following plant is from Rosaceae family ? 

 (A) Merigold    (B) Rose 

 (C) Chrysanthemum   (D) Gladiolus 
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64- oYMZ U;wt fdl Qwy dh fdLe gS \ 

 (A) xsank     (B) xqynkmnh 

 (C) Mgfy;k     (D) XySfM;ksyl 

 World News is the variety of which flower ? 

 (A) Merigold    (B) Chrysanthemum 

 (C) Dahlia     (D) Gladiolus 

65- buesa ls dkSu ekyk cukus ds fy, mi;qDr gS \ 

 (A) xqynkmnh     (B) Mgfy;k 

 (C) XySfM;ksyl    (D) buesa ls dksbZ ugha 

 Which of the following is suitable for garland making ?  

 (A) Chrysanthemum   (B) Dahlia 

 (C) Gladiolus    (D) None of these 

66- jtuhxa/kk ds dUnksa dh jksikbZ dk le; D;k gS \ 

 (A) ekpZ&vizSy    (B) tuojh&Qjojh 

 (C) tqykbZ&vxLr    (D) buesa ls dksbZ ugha 

 What is the planting time of tuberose tuber ? 

(A) March-April    (B) January-February 

(C) July-August    (D) None of these 

67- jk"Vªh; ouLifr vuqla/kku laLFkku dgk¡ gS \ 

 (A) iVuk     (B) Hkkxyiqj 

 (C) y[kuÅ     (D) ubZ fnYyh 
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Where is the National Botanical Research Institute ? 

(A) Patna     (B) Bhagalpur  

(C) Lucknow    (D) New Delhi 

68- buesa bfjMSlh dqy dk ikS/kk dkSu gS \ 

 (A) xqykc     (B) xsank 

 (C) XySfM;ksyl    (D) jtuhxa/kk 

 Which of the following plant is from Iridaceae family ? 

 (A) Rose     (B) Merigold 

 (C) Gladiolus    (D) Tuberose 

69- tsyh esa buesa ls fdldk O;ogkj gksrk gS \ 

 (A) csj      (B) ve:n 

 (C) dVgy     (D) VekVj 

 Which of the following is used in Jelly ? 

 (A) Ber     (B) Guava 

 (C) Jack fruit    (D) Tomato 

70- n`"; JC; dk mnkgj.k gS % 

 (A) jsfM;ks     (B) Vsyhfotu 

 (C) izn’kZuh     (D) VsyhQksu 

 Example of Audio-visual Aid is :  

 (A) Radio     (B) Television 

 (C) Exhibition    (D) Telephone 
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SECTION- B 

Short Answer Type Questions 

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSaA          (10x2=20) 

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      (10x2=20) 

1- xsgw¡ ds nks mUur fdLeksa ds uke fy[ksaA      2 

Write names of two improved varieties of wheat. 

2- puk ds ,d jksx dk uke fy[ksaA       2 

Write the name of one disease of Gram. 

3- cgq-&eatyh [ksrh D;k gS \        2 

What is multi-storied cropping ? 

4- lekukUrj [ksrh D;k gS \        2 

What is parallel cropping ? 

5- tyeXurk dks lgu djus okyh nks Qlyksa ds uke fy[ksaA   2 

Write two names of crops, resistant to water logging. 

6- lrgh flapkbZ dh nks fof/k;ksa ds uke fy[ksaA     2 

Write names of two methods of surface irrigation. 

7- fn;kjk {ks= D;k gS \         2 

What is Diara land ? 
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8- jch ekSle ds nks pkjk Qlyksa ds uke fy[ksaA     2 

Write names of two Rabi season fodder crops. 

9- xUuk ds jksikbZ dk le; D;k gS \       2 

What is the Planting time of Sugarcane ? 

10- vtksyk ds ckjs essa fy[ksaA        2 

Write about Azolla. 

11- lajf{kr [ksrh D;k gS \        2 

What is Precision farming ? 

12- jksi.k dh oxkZdkj fof/k dks fy[ksaA       2 

Write square system of Planting. 

13- feMks vkWjpfMZax D;k gS \        2 

What is meadow orcharding ? 

14- yhph dh nks fdLeksa ds uke fy[ksaA       2 

Write names of two varieties of Litchi. 

15- yglqu esa [kkn ,oa moZjd dh ek=k dk o.kZu djsaA    2 

Describe manures and fertilizer in garlic. 

16- fepZ dh nks fdLeksa ds uke fy[ksaA       2 

Write names of two varieties of chilli. 

17- xqykc dh nks fdLeksa dk uke fy[ksaA      2 

Write names of two Rose varieties. 
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18- 'ksMusV D;k gS \         2 

What is Shednet. 

19- tsyh ds fy, mi;qDr Qyksa dk uke fy[ksaA     2 

Write names of fruits suitable for Jelly. 

20- nks n"̀; JC; midj.kksa ds uke fy[ksaA      2 

Write names of two Audio-Visual Aids. 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj 

nsaA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA     (3x5=15) 

Question no. 21 to 26 are Long answer type questions. Answer any 3 of 

them. Each question carries 5 marks.     (3x5=15) 

21- /kku dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsa %    5 

¼a½ mi;qDr tyok;q    ¼b½ ladj fdLesa  

¼c½ jksiuh ds fy, [ksr dh rS;kjh  ¼d½ dhV izca/ku   

¼e½ ty izca/ku 

Describe the cultivation of Rice under following heads : 

(a)  Suitable Climate    

(b) Hybrid varieties  

(c) Preparation of land for transplanting 

(d) Insect Management  
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(e) Water Management  

22- mM+n dh [ksrh dk fuEufyf[kr ’kh"kZdksa esa o.kZu djsaA    5 

¼a½ mi;qDr feV~Vh     ¼b½ chtksipkj  

¼c½ moZjd izca/ku    ¼d½ vUroZrh [ksrh  

¼e½ mit 

Describe the cultivation of Black gram under following heads: 

(a) Suitable Soil     (b) Seed Treatment  

(c) Fertilizer Management  (d) Inter Cropping  

(e) Yield  

23- d`f"k {ks= dh izeq[k vkfFkZd leL;kvksa dk o.kZu djsaA    5 

Desribe the important economic problems in agriculture field. 

24- vk¡oyk dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsa %    5 

¼a½ mi;ksx     ¼b½ tyok;q  

¼c½ [kkn ,oa moZjd    ¼d½ flapkbZ 

¼e½ iztkfr;k¡ 

Describe the cultivation of Amla under the following heads: 

(a) Uses     (b) Climate 

 (c) Manure and fertilizer  (d) Irrigation     

 (e)  Varieties 

25- fHkaMh dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djs %    5 

¼a½ feV~Vh      ¼b½ mUur fdLesa  



28 
 

¼c½ cht dh ek=k    ¼d½ cqvkbZ dk le;  

¼e½ [kkn ,oa moZjd 

Describe the cultivation of Lady finger under the following heads: 

(a) Soil     (b) Improved Varieties  

(c) Quantity of seed   (d) Sowing time  

(e) Manure and fertilizer 

26- XySfM;ksyl dh oSKkfud [ksrh dk o.kZu djsaA      5 

Describe the scientific cultivation of Gladiolus. 

 

 

 


